N
Np

¢ T
4

Product
Specification
Positioning
Stages




GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

<vr

Crossed Roller Guiding © XYZ-Axis © Aluminum Alloy

Crossed Roller Stages | 30*30

MBZ30-AML

(81)

8-M2x0.4*5L
| o
= &
N
& o
]
b
4-92.4
[0] [e]
3 © ©
[¢] [¢]
(@) (@]
Specification Unit - mm
Micrometer | Straightness | Allowable
Table . Travel Minimum A Loadi Weight 9 Surface
Rocellicy Size LS Stroke |  Reading G an (kg) | Material | “rinign
(um)
MBZ30-AML(R) 3030 | XYZ-axis | +3.25 10 3 15 01 [Aluminum|  Black
alloy anodized

XThe 2D drawing shown was copied from MBZ30-AMR.

Crossed Roller Guiding © XY-Axis © Aluminum Alloy

Crossed Roller Stages | 40*40

MYCP40-A

<vr

GMT GLOBAL INC.

16_,_16
12112 8-M2x0.4
4-M3x0.5
ronaiy
« 2/ ﬁ©
© Jo @
5 o +d]
<
®
* & *
e
(101.28)
040
MHGS-SP-13
amwu
n o sz
<
lm &
7
4-035 ™
32 ®6*3.5L
o O
[oXlNe) O O
S o
O O 0 _©O
@ o O @
Specification Uit
Micrometer | straightness | Allowable
Table - Travel Minimum I Loadi Weight ) Surface
WeEEI e, Size GxS Stroke Reading c(t;unl;a)cy ?:gfl)ng (kg) Material Finish
(m)
MYCP40-A | 40°40 | XY-axis | %65 10 3 18 02g |Auminum/ Black
alloy anodized

uoljeolyoads jonpold

3
o
e
©
@

£
E
2
2
3
s



uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
2
3
s

<vr

GMT GLOBAL INC.

Crossed Roller Guiding © XY-Axis © Aluminum Alloy

Crossed Roller Stages | 60*60

MYCP60-A

25 25
16_| 16 8-M3x0.5
4-M4x0.7
v
0 L3
= i
© o
060
MHGS-SP-13
)
. EED |
~
4-¢5 1
50 PgraL
(o] O O o
3 )
[ O [¢] o]
Specification Unit: mm
Micrometer | Siraightness | Allowable
Table . Travel Minimum A Loadi Weight . Surface
Rocellicy Size s Stroke Reading o((:,l:;a)cy c(’:gfl)ng (kg) Material Finish
(um)
MYCPEO-A | 6060 XY-axis | 65 10 3 45 05  |Auminum/|  Black
alloy anodized

Crossed Roller

Stages ] :
(Feeding Screw Design) © XYZ-Axis © Aluminum A"0y

Crossed Roller | Prober Stage | 20*20

MPS20-AML-18

<vr

GMT GLOBAL INC.

>
o~
020
16
PS1RF-07
4-01.6"6L
M2x0.4*5L
3 ® []] |
° i o
® | )
o | 2]
<
fl [] <
! 55 ‘
Specification Unit : mm
Movement | Straightness | Allowable ’
Model No. 'I';libzlee Axis g?;:é PerKnob | Accuracy | Loading W(i'g)m Material Slgigiascl?le
Rotation (Hm) (kaf) 9
MPS20-AMR(L )18 | 20720 | Xvzaxis | +3 0.5 3 1 0.1 |Aluminum Black
alloy anodized

uoljeolyoads jonpold

3
o
e
©
@

£

E

2
2

3

s



